

$$\prod_{k \geq 1} \underbrace{1 + zq^k} = \sum_n z^n \prod_{1 \leq j \leq n} \frac{q^j}{1 - q^j}$$

$$\begin{aligned} \sum_n \# \gamma_n z^n = {}^z \gamma &= \prod_{k \geq 1} \underbrace{1 + zq^k} = \underbrace{1 + zq} \prod_{k \geq 2} \underbrace{1 + zq^k} = \underbrace{1 + zq} \prod_{h \geq 1} \underbrace{1 + \widehat{zq} q^h} = \underbrace{1 + zq} {}^{zq} \gamma \\ &= \underbrace{1 + zq} \sum_n \# \gamma_n \widehat{zq}^n = \underbrace{1 + zq} \sum_n \# \gamma_n q^n z^n = \sum_n \# \gamma_n q^n z^n + \# \gamma_n q^{n+1} z^{n+1} \\ &\Rightarrow \# \gamma_{n+1} \underbrace{1 - q^{n+1}} = \# \gamma_n q^{n+1} \# \gamma_n = \prod_{1 \leq j \leq n} \frac{q^j}{1 - q^j} \end{aligned}$$

$$\prod_{k \geq 1} \frac{1}{1 - zq^k} = \sum_n z^n \prod_{1 \leq j \leq n} \frac{q}{1 - q^j}$$

$$\prod_i \underbrace{1 - q^{2i+2}} \underbrace{1 + zq^{2i+1}} \underbrace{1 + z^{-1}q^{2i+1}} = \sum_n z^n q^{n^2}$$